INDEX (BH)
INDEX (@Z)
F A X F ZA@F
NSO EESAS
(it v hMF)

ARAXAS—HF
&EFry bv47)
FAXAXHF
FAX A ZHF
&EFrybv47)
F—X
TILR(EREE)
TILIRGEEXRY)
B/E2U—7J (P)
B/E2U—7 (R)
B/EAU—-TJ
(FZARY)
M16 - M12H
TR7 I Ty—
M16 - M12H
F 21— ZIRHF
M16F1—T7575—
WeeF1—J7979—
K[Fv bk
BEvIY b
muvy
755
FrvT
NyFY
TSVIXAXMF

339

(F5&:mm)

L L
Pé'.ost _ B % B i
A %
i T % L
fidee A B L | d TEff b A B L d Effi
TS59 | Wee—-14(f) | Rel/4 | 33 | 13 | 8 | 8400 168 | Rcl/4 | Rel/4 | 35 8 | 8400
TS60 | W22-14(t) | Rea/8 | 38 | 13 | 10 | 8,700 169 | Rcl/4 | Red/8 | 40 g | 8700
TS61 | W2e-14(f) | Rel/2 | 38 | 13 | 10 | 8,700 170 | Rel/4 | Rel/2 | 40 g | 8700
o | 1862 |wee-14(%) | Ro1/a | 38 | 13 | 8 | 8400 2|18 | Rods | Roars | 40 10 | 8700
Z| 163 | wea-14(x) | Reas | 38 | 13 | 10 | 8700 Zl 1572 | Rowe | Rer2 | 40 10 | 8700
L | 164 | wee-140m) | Re1/2 | 38 | 13 | 10 | 8700 D[ 178 [ el | Rei2 | 45 14 | 9000
TS65 | W21-14(%) | Rel/4 | 33 | 13 | 8 | 8400
TS66 | W21-14(f%) | Re3/8 | 38 | 13 | 10 | 8,700
1867 | W21-14(%) | Rel/2 | 38 | 13 | 10 | 8700
859 | W22-14(f) | Rel/4 | 33 | 13 | 8 | 3,000 1868 | Rcl/4 | Rcl/4 | 35 8 | 3000
TBBO | W22-14(f) | Rea/8 | 38 | 13 | 10 | 3,200 1869 | Rcl/4 | Re3/8 | 40 8 | 3000
TB81 | W2e-14(f) | Rel/2 | 38 | 13 | 10 | 3,200 1870 | Rcl/4 | Rel/2 | 40 8 | 3200
TB62 | W22-14(%) | Rel/4 | 33 | 13 | 8 | 3,000 71 | Re3/8 | Rc3/8 | 40 10 | 3000
B 1863 |wee-14(%) | Re3/8 | 38 | 13 | 10 | 8200 Rl1872 | Reais | Rel/2 | 40 10 | 3200
s | 1884 | Wee-14(%) | Re1/2 | 38 | 13 | 10 | 3.200 o| 878 | Rz | Rel/2 | 45 14 | 3200
TB65 | W21-14(%) | Rel/4 | 33 | 13 | 8 | 3,000
TB66 | W21-14(%) | Rea/8 | 38 | 13 | 10 | 3,120
867 | W21-14(%) | Rel/2 | 38 | 13 | 10 | 3,120
\ ‘ | ‘
) )
RO - L ﬂ Pb “?Lg];ﬂ; Pb
IS ‘ It
TS:541470V TS 5470
AL L] s IMPall FOEERTY. \B TeF 1o Lt LN\ TBIFAOY
B A B L | d TEffi il A L | d TEff
TS140%| M16x15(8)| Rcl/4 | 53 | 6 | 4 | 24,000 z| 1558 | wee—14(%) 36| 13| 10 | 5100
TS141%| M16x15()| Rcl/4 | 53 | 6 | 4 | 24,000 2
18142 115 | Roars [ 53 | 6 | 4 | 24000 ¥
Z [15143% M16x1.508) | Re3/8 | 53 | 6 | 4 [24000 | T8 | Wee1a®) % 13 10 | 3400
L | 15144 | We2-14(s) | Rel/4 | 72 | 10 | 8 | 24000
TS145 | W22-14(8) | Re3/8 | 72 | 10 | 10 | 24,000 =
TS146 | W22-14(8) | Rel/2 | 74 | 10 | 10 | 24,000
TS147 | W30-14(H) | Rc1/2 | 90 | 12 | 14 | 28,000
TS148 | W30-14(8) | Rc3/4 | 90 | 12 | 16 | 28,000 Hex20 |
TS166 | W30-14(8)| Rel | 97 | 12 | 16 | 30,000
TB140%| M16X15(8)| Rel/4 | 53 | 6 | 4 | 4800 #L
TB141%| M16X15()| Rcl1/4 | 53 | 6 | 4 | 4800 pup S - L R
TB142%| M16X15(8)| Re3/8 | 53 | 6 | 4 | 6,000
B 18143+ M16x150%) | Rea/8 | 53 | 6 | 4 | 6,000 WouT 7 N\g
& | TB144 | Wee-14(8)| Rels4 | 72 | 10| 8 | 7200
TB145 | We2-14(8) | Re3/8 | 72 | 10 | 10 | 8400 B A B |L|h|k|H|d| =i
BN vioo— 122 | roivz |74 | 10 |10 [ 10200 = | TBMS |wea-1415) [wes-14i5) [4214]16(30] 5| 1,730
TB147 | W30-14(8) | Re1/2 | 90 | 12 | 14 | 15,800 -
TB148 | W30-14(8) | Re3/4 | 90 | 12 | 16 | 17,400
TB166 | W30-14(8) | Rel | 97 | 12| 16 | 17,400
TB167 | M12x1() | Rel/4 |56.5| 65| 3 | 4800

FENABEEBR~ZE%2EH

REERAES 20MPaxiit T . 20MPaZiB X 2 EADHBE TR T,

ERCKOEELHROBDONGHDET )

[ 1: 1MPa Xl BMPalI R CCERTEL,
[ 1:30MPaxTCERWVEITERT,



(=5&:mm)

ODARXA AT (RF VT LT) OARXARYF (RFvhFLT)

L L
F,_j I E—A _W
R~ I
RS
PXb ‘J@ L - B pah | | L I _ j
JevFAT / ey A
TS5, 70V TS:H«170v
TB:FrOv 4 l 8 TB:FrOv 4 l B
Eilh:o A B L | 1| d i il A B L| 1| d i
Z | 18149 | Wea-14(#) | Rel/4 | 72 | 10| 5 | 21,000 Z | TS152 | Wee-14(f) | Re1/4 | 72 | 10 | 8 |21,000
T T
7| T8150 | wee-14(#) | Red/8 | 72 | 10 | 5 | 21000 7| 18158 | We2-14() | Red/8 | 72 | 10 | 10 | 21000
Z | 18151 | Wea—-14(8) | Re1/2 | 74 | 10| 5 | 24,000 Z | TS154 | Wee-14(5) | Re1/2 | 74 | 10 | 10 | 24,000
TB149 | W22-14(%) | Rcl/4 | 72 | 10| 5 | 7,200 TB152 | W22-14(%) | Rcl/4 | 72 | 10| 8 | 7,200
B 18150 | wee-14(5) | Rea/s | 72 | 10 | 5 | 8400 B | 18153 | Wee—14(5) | Re3/8 | 72 | 10 | 10 | 8400
¢ | TBIS1 | W2e-14(#) | Rel/2 | 74 | 10 | 5 | 9600 g | TBIB4 | W22-14(%) | Rel/2 | 74 | 10 | 10 | 9600
TB168 | W22-14(A) |NPT1/4| 72 | 10| 5 | 7.200

OARXAREF (RFvbFLT) DAZXXARYF (RFvhFLT)

L L
— —

INDEX (BE)

l || %) 3 | . i INDEX (2%)

RZD PZib PZb [=5H) FAX T AUF
NS i Ry oA NEJDERSAS

1S540 TSS90 T8940V (37w M)

A U 2 \8 L VAT 2 \8

s A B Lih |l |d]| =@ B A B L h|l|d]| @ AZX NS —HF
2 TS155 | Wee-14(k)| G3/8 | 72| 10| 15| 6 | 21,000 2 TS159 | Wee-14(%)| G3/8 | 72| 10| 15| 5 | 21,000 ;?:;;é;ﬂ

; TS156 | Wee-14(K)| G1/2 | 74| 10| 16 | 8 | 24,000 ; TS160 | W22-14(K)| G1/2 | 74| 10| 16| 5 | 24,000 2 X X RHEE
l;i TS157 | W30-14(®)| G1/2 | 90| 12| 16 | 10 | 30,000 |7< ;;é;/ ko4 7)

TS158 | W30-14(K)| G3/4 | 90| 12| 18| 16 | 33,000 TIRCEE)
TB155 | W22-14(K)| G3/8 | 72| 10| 15| 6 | 8400 TB159 | W22-14(K)| G3/8 | 72| 10| 15| 5 | 8400 %;;’;ffje_}g;?;f)
B[ 18156 | wee-148)| G172 | 72| 10| 16| 8 | 9,000 B[ 18160 | wee-14(8)| 6172 | 72| 10| 16| 5 | 9,000 sa;;xu—;‘ R

BEAU—T

g | TB157 | W30-14(f)| G1/2 | 90| 12| 16 | 10 | 15,000 s | TB169 | We2-14(#)| G1/4 | 72| 10| 11| 5 | 7.200 (F22)

TB158 | W30-14(f)| G3/4 | 90| 12| 18| 16 | 16,800 M16 - M12H

ER7YI—

M16 - M12H

DAZAXAAEFE (RF VT L) F 21— TERHE

M16F21—=7759 79—

! W22F 1-J75 75—
‘ ‘ ®KFrv b
) BEVT Y R
t | my>vsy
= 755
Pap ] _ = pun FovT
oAt At AV > .
185470y 1S540 TSUIXARBE
TB:7"fEI‘/A (1 12 B
B A B | L | b || d| =
o | 18161 | we2-14®)| 63/8 | 72| 10|15 6 21,000
7 | TS162 | Wee-14(&)| G1/2 | 74| 10| 16| 8 | 24000
%
2
TBIB1 | We2-14()| G3/8 |72 | 10| 15| 6 | 8400
=3

TB162 | W22-14(&)| G172 | 72| 10| 16| 8 | 9,000

BENEEERR BN
RafEAES 20MPaxiit TY . 20MPaZBX 2ENDHSGIFTHE TE V. (BIRICKIDEELFOBDONHOET,)

[ 1: 1MPa X[& SMPall FCCERTEL,
1 :30MPa&x CERVEIFRT,

340



